Resolvendo Equagdes Quadraticas

6x> — 1lx+5=0

X +5x—14=0

7 — 69x+54 =0

6x> + 43x—40 = 0

Encontro: Data: Pontuagao:

X+ 7x—8=0

X —5x—36=0

6x> — 13x+7 =0

X+ 15x+54=0

2%+ Tx—15 =0

www.snowmath.com



https://www.snowmath.com

Resolvendo Equagdes Quadraticas

Nome: Encontro: Data: Pontuagao:
2 _ 2 _
X —2x—24=0 xX+7x—8=0
x=-46 x=-8,1
6x> — 1lx+5=0 ¥ —5x-36=0
=21 x=-4,9
69
2 _ 2 _
xX+5x—14=0 6x"—13x+7=0
x=2,-7 =1y
65
Tx* — 69x + 54 = 0 P+ 15x+54=0
6 x=-6,-9
— _’9 >
77
6x° + 43x—40 =0 2%+ 7x—15=0
5 3
x—g, 8 .X—E, 5
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